A generalization of Nochka weight function

By Nobushige TODA*)

Professor Emeritus, Nagoya Institute of Technology

(Communicated by Heisuke HIRONAKA, M.J.A., Nov. 12, 2007)

Abstract: For any subset, which is not always finite, of $C^{m+1} - \{0\}$ in subgeneral position, we introduce a weight function and a constant like as Nochka weight function and Nochka constant which was introduced for a finite subset of $C^{m+1} - \{0\}$ in subgeneral position.

Key words: Nochka weight function; Nochka constant; holomorphic curve.

1. Introduction. About twenty four years ago, E. I. Nochka [4] proved the conjecture of H. Cartan given in [1] by introducing a weight function and a constant for a finite subset of $C^{n+1} - \{0\}$.

Let N, n be integers satisfying $N \ge n \ge 1$ and X be any subset of $\mathbb{C}^{n+1} - \{\mathbf{0}\}$ in N-subgeneral position. For a finite subset P of X, we denote by V(P) the subspace of \mathbb{C}^{n+1} generated by elements of P and by d(P) the dimension of V(P). We put $\mathcal{O} = \{P \subset X \mid 0 < \#P \le N+1\}$.

When $2N - n + 1 \le \#X < \infty$, it is known (see [2,3,5,6]) that there exist a constant θ and a function $\omega: X \to (0,1]$ with the following properties:

Theorem 1.A.

- (1.a) For any $\boldsymbol{a} \in X$, $0 < \theta \omega(\boldsymbol{a}) \le 1$;
- (1.b) $\#X (2N n + 1) = \theta(\sum_{a \in X} \omega(a) n 1);$
- $(1.c) (N+1)/(n+1) \le \theta \le (2N-n+1)/(n+1);$
- (1.d) For any $P \in \mathcal{O}$, $\sum_{a \in P} \omega(a) \leq d(P)$.

We call ω the Nochka weight function and θ the Nochka constant. E. I. Nochka [4] succeeded in solving the Cartan conjecture with these notions. We used them to obtain some results on holomorphic curves extremal for the defect relation [7,8]. But, it is incovenient to apply them to holomorphic curves with an infinite number of defects since the weight function is defined only for a finite set. We would like to delete the condition "# $X < \infty$ " in Theorem 1.A. To that end, we shall generalize ω and θ to any subset of $\mathbb{C}^{n+1} - \{\mathbf{0}\}$ in N-subgeneral position to obtain a new weight function and a constant satisfying properties like those of Theorem 1.A.

We can apply them to the value distribution

theory of holomorphic curves with an infinite number of defects directly. Applications will appear elsewhere.

2. Preliminaries. Let N, n, X etc. be as in Section 1. From now on throughout the paper #X is not always finite.

Lemma 2.1 ([3; p.68]). For $S_1, S_2 \in \mathcal{O}$, $d(S_1 \cup S_2) + d(S_1 \cap S_2) \le d(S_1) + d(S_2)$.

Lemma 2.2 ([3; p.68]). $For R \subset S(R, S \in \mathcal{O}),$

 $\#R - d(R) \le \#S - d(S) \le N - n.$

For $R \subsetneq S$ $(R, S \in \mathcal{O})$, we put

 $\Lambda(R; S) = (d(S) - d(R)) / (\#S - \#R).$

Then, by Lemma 2.2 we have the following

Proposition 2.1 ([3; p.67]). $0 \le \Lambda(R; S) \le 1$.

Lemma 2.3. $\#\{d(S)/\#S \mid S \in \mathcal{O}\}\ is\ finite.$

Proof. We have only to prove this lemma when #X is not finite. For any $S \in \mathcal{O}$,

(1)
$$1 \le d(S) \le n+1$$
 and $1 \le \#S \le N+1$.

Further, from Lemma 2.2, $\#S - d(S) \le N - n$, which reduces to the inequality

(2)
$$\frac{1}{N-n+1} \le \frac{d(S)}{N-n+d(S)} \le \frac{d(S)}{\#S} \le 1.$$

From (1) and (2), the number d(S)/#S can attain at most (n+1)(N+1) rational numbers between 1 and 1/(N-n+1).

From this lemma we can give the following definition.

Definition 2.1. $\lambda = \min_{S \in \mathcal{O}} d(S) / \#S$.

Proposition 2.2. It holds that

$$1/(N-n+1) \le \lambda \le (n+1)/(N+1)$$
.

Proof. From (2), we have $1/(N-n+1) \leq \lambda$. On the other hand, for $S \in \mathcal{O}$ such that #S = N+1, d(S) = n+1 by the definition of N-subgeneral position and we have $\lambda \leq (n+1)/(N+1)$. \square

²⁰⁰⁰ Mathematics Subject Classification. Primary 32H30; Secondary 15A03.

^{*)} Present address: Hoshigaokayamate 401-C1113, Chikusaku, Nagoya, Aichi 464-0808, Japan.

Lemma 2.4. For a fixed $R \in \mathcal{O}$,

 $\#\{\Lambda(R;S)\mid R\subsetneq S\in\mathcal{O}\}<\infty.$

Proof. We have only to prove this lemma when #X is not finite. As $0 \le d(S) - d(R) \le n$ and $1 \le \#S - \#R = \#(S - R) \le N$, $\Lambda(R;S)$ can attain at most N(n+1) rational numbers between 0 and 1.

Proposition 2.3. (I) When $\lambda \geq (n+1)/(2N-n+1)$, for any $S \in \mathcal{O}$ it holds that $d(S)/\#S \geq (n+1)/(2N-n+1)$.

(II) When $\lambda < (n+1)/(2N-n+1)$, there exist an integer p $(1 \le p < (n+1)/2)$ and a subfamily $\{T_i \mid 1 \le i \le p\}$ of $\mathcal O$ satisfying the conditions:

(i) $\phi = T_0 \subsetneq T_1 \subsetneq \cdots \subsetneq T_p$, $d(T_p) < (n+1)/2$;

(ii) $\Lambda(T_0; T_1) < \Lambda(T_1; T_2) < \dots < \Lambda(T_{p-1}; T_p)$ < $(n+1-d(T_p))/(2N-n+1-\#T_p);$

(iii) When $1 \le i \le p$, for any $U \in \mathcal{O}$ such that $T_{i-1} \subsetneq U$, if $d(T_{i-1}) < d(U)$, then

(a) $\Lambda(T_{i-1}; T_i) \leq \Lambda(T_{i-1}; U)$ and

(b) $\Lambda(T_{i-1}; T_i) = \Lambda(T_{i-1}; U)$ only if $U \subseteq T_i$;

(iv) For any $U \in \mathcal{O}$ such that $T_p \subsetneq U$,

if $d(T_p) < d(U)$, then

 $\Lambda(T_p; U) \ge (n + 1 - d(T_p))/(2N - n + 1 - \#T_p).$ Proof. (I) This is trivial by the definition of λ .

(II) Note that $N > n \ge 2$ by Definition 2.1 and Proposition 2.2. We put $T_0 = \phi$ and

 $\mathcal{O}(\lambda) = \{ S \in \mathcal{O} \mid d(S) / \#S = \lambda \}.$

Step 1. (a_1) $\mathcal{O}(\lambda)$ is not empty.

(b₁) Let $S \in \mathcal{O}(\lambda)$. Then,

(3)
$$d(S) < (n+1)/2$$
 and $\#S < (2N-n+1)/2$.

In fact, as $d(S)/\#S = \lambda < (n+1)/(2N-n+1)$, we obtain (3) by Lemma 2.2.

(c₁) If $S_1, S_2 \in \mathcal{O}(\lambda)$, then $S_1 \cup S_2 \in \mathcal{O}(\lambda)$.

In fact, from Lemma 2.1 and (b_1) we obtain the inequality

$$d(S_1 \cup S_2) + d(S_1 \cap S_2) \le d(S_1) + d(S_2)$$

$$< (n+1)/2 + (n+1)/2 = n+1,$$

so that $d(S_1 \cup S_2) \leq n$. This implies that $\#(S_1 \cup S_2) \leq N$ and so $S_1 \cup S_2 \in \mathcal{O}$. Next, by the definition of λ and by Lemma 2.1,

$$\lambda \le \frac{d(S_1 \cup S_2)}{\#(S_1 \cup S_2)} \le \frac{d(S_1) + d(S_2) - d(S_1 \cap S_2)}{\#S_1 + \#S_2 - \#(S_1 \cap S_2)} = (*)$$

and by using the inequality $\lambda \# (S_1 \cap S_2) \le d(S_1 \cap S_2)$ we have

$$(*) \leq \frac{\lambda(\#S_1 + \#S_2 - \#(S_1 \cap S_2))}{\#S_1 + \#S_2 - \#(S_1 \cap S_2)} = \lambda.$$

We obtain that $d(S_1 \cup S_2) / \#(S_1 \cup S_2) = \lambda$, which means that $S_1 \cup S_2 \in \mathcal{O}(\lambda)$.

 $(d_1) \# \mathcal{O}(\lambda)$ is finite.

We have only to prove (d₁) when #X is not finite. Suppose to the contrary that $\#\mathcal{O}(\lambda) = \infty$. Then, $\mathcal{O}(\lambda) \supset \{S_1, S_2, \cdots, S_i, \cdots\}, S_i \neq S_j \text{ if } i \neq j$ and $\#\{\bigcup_{i=1}^{\infty} S_i\} = \infty$.

There exists an integer ν satisfying

(4)
$$N+1 < \#\{\bigcup_{i=1}^{\nu} S_i\}.$$

On the other hand, $\bigcup_{i=1}^{\nu} S_i \in \mathcal{O}(\lambda)$ by (c_1) and so by (b_1)

(5)
$$\#\{\bigcup_{i=1}^{\nu} S_i\} < (2N-n+1)/2.$$

From (4) and (5) we obtain that n+1 < 0, which is absurd. This implies that $\#\mathcal{O}(\lambda)$ must be finite.

(e₁) We put $T_1 = \bigcup_{S \in \mathcal{O}(\lambda)} S$. Then $T_1 \in \mathcal{O}(\lambda)$ from (c₁), (d₁), and if $S \in \mathcal{O}(\lambda)$, then $S \subset T_1$.

Moreover, T_1 satisfies the following conditions

((i), (ii), (iii) of Proposition 2.3(II) for p = 1):

$$(i_1) \phi = T_0 \subsetneq T_1, \ d(T_1) < (n+1)/2;$$

 (ii_1)

 $\Lambda(T_0; T_1) < (n+1-d(T_1))/(2N-n+1-\#T_1);$

(iii₁) For any $U \in \mathcal{O}$, (a) $\Lambda(T_0; T_1) \leq \Lambda(T_0; U)$ and (b) $\Lambda(T_0; T_1) = \Lambda(T_0; U)$ only if $U \subseteq T_1$.

In fact, (i_1) is trivial by (a_1) , (e_1) and (b_1) .

(ii₁) As $d(T_1)/\#T_1 = \lambda < (n+1)/(2N-n+1)$, we obtain (ii₁) easily.

(iii₁) $\Lambda(T_0; T_1) = \lambda \leq d(U) / \# U$ for any $U \in \mathcal{O}$ by the definition of λ and T_1 . If $U \in \mathcal{O}(\lambda)$ then $U \subseteq T_1$ by (e₁).

Next, we put

$$\mathcal{O}_1 = \{ S \in \mathcal{O} \mid T_1 \subset S, \ d(T_1) < d(S) \}.$$

(a₂) \mathcal{O}_1 is not empty.

In fact, as $d(T_1) < (n+1)/2$, any S such that $T_1 \subset S \in \mathcal{O}$ and #S = N+1 belongs to \mathcal{O}_1 .

(b₂) $\#\{\Lambda(T_1;S) \mid S \in \mathcal{O}_1\}$ is finite.

This follows from Lemma 2.4.

Here, we put $\lambda_1 = \min_{S \in \mathcal{O}_1} \Lambda(T_1; S)$. Then,

(c₂) $\lambda < \lambda_1$.

We prove this inequality. For any $S \in \mathcal{O}_1$, we have

(6)
$$d(T_1)/\#T_1 < d(S)/\#S$$
.

In fact, by (iii₁)

(7)
$$d(T_1)/\#T_1 \le d(S)/\#S$$

and if the equality holds in (7), $S \subseteq T_1$, which is absurd. We obtain (6) and from which we have the

inequality

$$\lambda = \frac{d(T_1)}{\#T_1} < \frac{d(S)}{\#S} < \frac{d(S) - d(T_1)}{\#S - \#T_1}$$

for any $S \in \mathcal{O}_1$, so that we obtain (c_2) due to (b_2) .

When $\lambda_1 \ge (n+1-d(T_1))/(2N-n+1-\#T_1)$. (iv₁) For any $U \in \mathcal{O}_1$,

 $\Lambda(T_1; U) \ge (n + 1 - d(T_1))/(2N - n + 1 - \#T_1).$

This means that our proposition holds for p = 1 and T_1 .

Step 2. When $\lambda_1 < \frac{n+1-d(T_1)}{2N-n+1-\#T_1}$.

Suppose that there exist the sets $T_1, \dots, T_i \in \mathcal{O}$ satisfying the following conditions:

(i₂)
$$\phi = T_0 \subsetneq T_1 \subsetneq \cdots \subsetneq T_i, \ d(T_i) < (n+1)/2;$$

(ii₂) $\Lambda(T_0; T_1) < \Lambda(T_1; T_2) < \cdots < \Lambda(T_{i-1}; T_i)$
 $< (n+1-d(T_i))/(2N-n+1-\#T_i);$

(iii₂) When $1 \le k \le i$, for any $U \in \mathcal{O}$ such that $T_{k-1} \subsetneq U$, if $d(T_{k-1}) < d(U)$, then

- (a) $\Lambda(T_{k-1}; T_k) \leq \Lambda(T_{k-1}; U)$ and
- (b) $\Lambda(T_{k-1}; T_k) = \Lambda(T_{k-1}; U)$ only if $U \subseteq T_k$.

Note that from (ii₂) we obtain the inequality:

(8)
$$\frac{d(T_1)}{\#T_1} < \frac{d(T_2)}{\#T_2} < \dots < \frac{d(T_i)}{\#T_i} < \frac{n+1}{2N-n+1} < \frac{n+1-d(T_i)}{2N-n+1-\#T_i}$$

when $i \geq 2$.

We put
$$\mathcal{O}_0 = \mathcal{O}$$
 and for $1 \le k \le i$
 $\mathcal{O}_k = \{ S \in \mathcal{O} \mid T_k \subset S, \ d(T_k) < d(S) \}.$

We note that $\mathcal{O} \supset \mathcal{O}_1 \supset \cdots \supset \mathcal{O}_i$. Then, as in the case of \mathcal{O}_1 , for $2 \leq i$ we have the following

- (a₃) \mathcal{O}_i is not empty;
- (b₃) $\#\{\Lambda(T_i; S) \mid S \in \mathcal{O}_i\}$ is finite.

We put $\lambda_i = \min_{S \in \mathcal{O}_i} \Lambda(T_i; S)$. Then, as in (c₂) we have the following inequality.

$$(c_3) (d(T_i) - d(T_{i-1})) / (\#T_i - \#T_{i-1}) < \lambda_i.$$

In fact, for any $S \in \mathcal{O}_i$ we have the inequality $\Lambda(T_{i-1}; T_i) < \Lambda(T_{i-1}; S)$ from (iii₂), so that we have the inequality

$$\frac{d(T_i) - d(T_{i-1})}{\#T_i - \#T_{i-1}} < \frac{d(S) - d(T_{i-1})}{\#S - \#T_{i-1}} < \frac{d(S) - d(T_i)}{\#S - \#T_i},$$

from which we obtain the inequality (c_3) .

Now, suppose that

(9)
$$\lambda_i < (n+1-d(T_i))/(2N-n+1-\#T_i).$$

Put $\mathcal{O}_i(\lambda_i) = \{ S \in \mathcal{O}_i \mid \Lambda(T_i; S) = \lambda_i \}$. Then, (a₄) $\mathcal{O}_i(\lambda_i)$ is not empty;

(b₄) For any $S \in \mathcal{O}_i(\lambda_i)$, d(S) < (n+1)/2 and #S < (2N - n + 1)/2.

In fact, from (9) we have $d(S) \leq n$ and $\#S \leq N$

so that from (ii_2) , (c_3) and (9) we obtain the inequality

$$\frac{d(T_i)}{\#T_i} < \frac{d(S)}{\#S} < \frac{d(S) - d(T_i)}{\#S - \#T_i}$$

$$< \frac{n+1 - d(T_i)}{2N - n + 1 - \#T_i} < \frac{n+1 - d(S)}{2N - n + 1 - \#S}$$

and so from the inequality

d(S)/#S < (n+1-d(S))/(2N-n+1-#S) we obtain that d(S)/#S < (n+1)/(2N-n+1). By using Lemma 2.2, we obtain (b_4) as in (b_1) .

(c₄) If S_1 , $S_2 \in \mathcal{O}_i(\lambda_i)$, then $S_1 \cup S_2 \in \mathcal{O}_i(\lambda_i)$ (see [3; p.70]).

To prove (c_4) , we first prove that

$$(10) S_1 \cup S_2 \in \mathcal{O}_i.$$

In fact, as

$$\lambda_i = \frac{d(S_1) - d(T_i)}{\#S_1 - \#T_i} = \frac{d(S_2) - d(T_i)}{\#S_2 - \#T_i},$$

by using Lemma 2.2 we obtain the inequality

$$d(S_1) + d(S_2) - 2d(T_i)$$

$$= \lambda_i (\#S_1 + \#S_2 - 2\#T_i)$$

$$\leq \lambda_i (d(S_1) + N - n + d(S_2) + N - n - 2\#T_i)$$

$$= \lambda_i (d(S_1) + d(S_2) - 2d(T_i)) + 2\lambda_i (N - n + d(T_i) - \#T_i),$$

so that as $\lambda_i < 1$

$$d(S_1) + d(S_2) - 2d(T_i)$$

$$\leq \frac{2\lambda_i}{N}(N - n + d(T_i) - \#T_i) = (*).$$

Here, we have the inequality

$$1 - \lambda_i > 1 - \frac{n+1 - d(T_i)}{2N - n + 1 - \#T_i}$$
$$= \frac{2N - 2n + d(T_i) - \#T_i}{2N - n + 1 - \#T_i}.$$

By using this inequality and (9) we have

$$(*) < \lambda_i (2N - n + 1 - \#T_i) < n + 1 - d(T_i)$$

since $d(T_i) - \#T_i \leq 0$. We obtain the inequality $d(S_1) + d(S_2) - d(T_i) < n + 1$, so that by Lemma 2.1 we have the inequality

$$d(S_1 \cup S_2) \le d(S_1) + d(S_2) - d(S_1 \cap S_2)$$

$$\le d(S_1) + d(S_2) - d(T_i) < n + 1$$

since $S_1 \cap S_2 \supset T_i$, which implies that $\#(S_1 \cup S_2) \le N$ and we have $S_1 \cup S_2 \in \mathcal{O}$. Further, as $d(T_i) < d(S_1) \le d(S_1 \cup S_2)$, we have (10).

Next, we prove the following inequality.

(11)
$$\lambda_i(\#(S_1 \cap S_2) - \#T_i) \le d(S_1 \cap S_2) - d(T_i).$$

As this inequality is trivial when $\#(S_1 \cap S_2) - \#T_i = 0$, we prove it when $\#(S_1 \cap S_2) - \#T_i > 0$. First we prove that

$$(12) d(T_i) < d(S_1 \cap S_2).$$

Suppose to the contrary that $d(T_i) = d(S_1 \cap S_2)$. Then, as $T_i \subsetneq S_1 \cap S_2 \in \mathcal{O}_{i-1}$ we have the inequality

$$\min_{S \in \mathcal{O}_{i-1}} \Lambda(T_{i-1}; S) = \Lambda(T_{i-1}; T_i) > \Lambda(T_{i-1}; S_1 \cap S_2).$$

This is a contradiction (see (iii₂)). We obtain (12) and $S_1 \cap S_2 \in \mathcal{O}_i$. By the definition of λ_i we have the inequality $\lambda_i \leq \Lambda(T_i; S_1 \cap S_2)$. This means that the inequality (11) holds.

Finally, we prove that $S_1 \cup S_2 \in \mathcal{O}_i(\lambda_i)$. By Lemma 2.1 and by (11)

$$\lambda_i \le \Lambda(T_i; S_1 \cup S_2)$$

$$\le \frac{d(S_1) + d(S_2) - d(S_1 \cap S_2) - d(T_i)}{\#S_1 + \#S_2 - \#(S_1 \cap S_2) - \#T_i} \le \lambda_i$$

since we obtain the following inequality from (11):

$$d(S_1) + d(S_2) - d(S_1 \cap S_2) - d(T_i)$$

$$= d(S_1) - d(T_i) + d(S_2) - d(T_i)$$

$$- (d(S_1 \cap S_2) - d(T_i))$$

$$\leq \lambda_i (\#S_1 - \#T_i + \#S_2 - \#T_i$$

$$- (\#(S_1 \cap S_2) - \#T_i))$$

$$= \lambda_i (\#S_1 + \#S_2 - \#(S_1 \cap S_2) - \#T_i).$$

Namely, we have that $\Lambda(T_i; S_1 \cup S_2) = \lambda_i$. This means that $S_1 \cup S_2 \in \mathcal{O}_i(\lambda_i)$.

As in Step 1 (d_1) , we obtain the following

- $(d_4) \# \mathcal{O}_i(\lambda_i)$ is finite.
- (e₄) We put $T_{i+1} = \bigcup_{S \in \mathcal{O}_i(\lambda_i)} S$. Then $T_{i+1} \in \mathcal{O}_i(\lambda_i)$ from (d₄), (c₄) and if $S \in \mathcal{O}_i(\lambda_i)$, $S \subseteq T_{i+1}$.

The family $\{T_1, T_2, \dots, T_{i+1}\} (\subset \mathcal{O})$ satisfies the following conditions:

(i₃)
$$\phi = T_0 \subsetneq T_1 \subsetneq \cdots \subsetneq T_i \subsetneq T_{i+1},$$

 $d(T_{i+1}) < (n+1)/2;$
(ii₃) $\Lambda(T_0; T_1) < \Lambda(T_1; T_2) < \cdots < \Lambda(T_{i-1}; T_i)$
 $< \Lambda(T_i; T_{i+1}) < \frac{n+1-d(T_{i+1})}{2N-n+1-\#T_{i+1}};$

(iii₃) When $1 \le k \le i+1$, for any $U \in \mathcal{O}_{k-1}$ such that $T_{k-1} \subsetneq U$, if $d(T_{k-1}) < d(U)$, then

- (a) $\Lambda(T_{k-1}; T_k) \leq \Lambda(T_{k-1}; U)$ and
- (b) $\Lambda(T_{k-1}; T_k) = \Lambda(T_{k-1}; U)$ only if $U \subseteq T_k$.

Step 3. As $d(T_{i+1}) < (n+1)/2$, we can reit-

erate the process given above at most (n+1)/2 times and then come to an end. That is to say, there exist a positive integer p(<(n+1)/2) and a family $\{T_1, \dots, T_p\}$ of subsets of X satisfying the conditions (i), (ii) and (iii) of Proposition 2.3(II). Further, when we put $\mathcal{O}_p = \{S \in \mathcal{O} \mid T_p \subset S, d(T_p) < d(S)\}$, we have the followings

- (a₅) \mathcal{O}_p is not empty.
- (b₅) $\#\{\Lambda(T_p; S) \mid S \in \mathcal{O}_p\}$ is finite.
- (c₅) the number $\lambda_p = \min_{S \in \mathcal{O}_p} \Lambda(T_p; S)$ satisfies the inequality

$$\lambda_p \ge (n+1-d(T_p))/(2N-n+1-\#T_p).$$

This inequality implies that (iv) of Proposition 2.3(II) holds:

(iv) For any $U \in \mathcal{O}_p$,

$$\Lambda(T_p; U) \ge (n + 1 - d(T_p))/(2N - n + 1 - \#T_p). \square$$

3. Generalization of Nochka weight function. Let X, \mathcal{O}, λ etc. be as in Section 1 or 2. We give the following definition as an extension of ω and θ given in Section 1. We define a function $w: X \to (0,1]$ and a constant h as follows:

Definition 3.1.

(I) When $\lambda \ge (n+1)/(2N-n+1)$. For any $\mathbf{a} \in X$

$$w(a) = \frac{n+1}{2N-n+1}$$
 and $h = \frac{2N-n+1}{n+1}$.

(II) When $\lambda < (n+1)/(2N-n+1)$.

$$w(\boldsymbol{a}) = \begin{cases} \Lambda(T_{i-1}; T_i) & \text{if } \boldsymbol{a} \in T_i - T_{i-1} \\ \frac{n+1-d(T_p)}{2N-n+1-\#T_p} & \text{if } \boldsymbol{a} \in X - T_p \end{cases}$$

 $(i=1,\cdots,p)$ and

$$h = (2N - n + 1 - \#T_p)/(n + 1 - d(T_p)),$$

where $T_0 = \phi$, T_i and $\Lambda(T_{i-1}; T_i)$ $(i = 1, \dots, p)$ are those given in Proposition 2.3(II).

Like ω and θ in Theorem 1.A, the function w and the constant h have the following properties.

Theorem 3.1.

- (a) For any $a \in X$, $0 < hw(a) \le 1$;
- (b) $\sum_{a \in X} (1 hw(a)) = 2N n + 1 h(n+1);$
- (c) $N/n \le h \le (2N n + 1)/(n + 1)$;
- (d) For any $S \in \mathcal{O}$, $\sum_{a \in S} w(a) \leq d(S)$.

Note 3.1. We note that

$$\begin{aligned} \{\boldsymbol{a} \in X \mid hw(\boldsymbol{a}) < 1\} = \\ \begin{cases} \phi & \text{if } \lambda \geq (n+1)/(2N-n+1) \\ T_p & \text{if } \lambda < (n+1)/(2N-n+1). \end{cases} \end{aligned}$$

Proof of Theorem 3.1.

- (I) When $\lambda \ge (n+1)/(2N-n+1)$.
- (a) For any $\boldsymbol{a} \in X$, $hw(\boldsymbol{a}) = 1$.
- (b) $\sum_{a \in X} (1 hw(a)) = 0 = 2N n + 1 h(n+1).$
- (c) h = (2N n + 1)/(n + 1).
- (d) For any $S \in \mathcal{O}$,

$$\sum_{\boldsymbol{a} \in S} w(\boldsymbol{a}) \le \lambda \# S \le (d(S)/\# S) \# S = d(S)$$

since $w(\mathbf{a}) = (n+1)/(2N-n+1) \le \lambda \le d(S)/\#S$ by the definition of λ (Definition 2.1).

(II) When $\lambda < (n+1)/(2N-n+1)$.

Let $\phi = T_0, T_1, \cdots, T_p$ be the sets obtained in Proposition 2.3(II) and let Q be a set satisfying $T_p \subset Q$ and $2N - n + 1 \leq \#Q < \infty$. We choose a subset T_{p+1} of Q such that

 $T_p \subset T_{p+1}$ and $\#T_{p+1} = 2N - n + 1$. Note that $d(T_{p+1}) = n + 1$.

(a) From (ii) of Proposition 2.3(II)

$$0 < hw(\mathbf{a}) \begin{cases} < 1 & \text{when } \mathbf{a} \in T_p \\ = 1 & \text{when } \mathbf{a} \in X - T_p. \end{cases}$$

(b) We use the following disjoint union:

$$Q = (Q - T_{p+1}) \cup (T_{p+1} - T_p) \cup \cdots \cup (T_1 - T_0).$$

$$\sum_{\boldsymbol{a} \in Q} w(\boldsymbol{a})$$

$$= \sum_{\boldsymbol{a} \in Q - T_{p+1}} w(\boldsymbol{a}) + \sum_{i=1}^{p+1} \sum_{\boldsymbol{a} \in T_i - T_{i-1}} w(\boldsymbol{a})$$

$$= \frac{1}{h} (\#Q - (2N - n + 1))$$

$$+ \sum_{i=1}^{p+1} (d(T_i) - d(T_{i-1}))$$

$$= \frac{1}{h} (\#Q - (2N - n + 1)) + d(T_{p+1})$$

$$= \frac{1}{h} (\#Q - (2N - n + 1)) + n + 1,$$

which implies that

(13)
$$\sum_{a \in O} (1 - hw(a)) = 2N - n + 1 - h(n+1).$$

Let Q be as above. Then, as $hw(\mathbf{a}) = 1$ for $\mathbf{a} \in X - Q$, we obtain the following equality from (13).

$$\sum_{\boldsymbol{a} \in X} (1 - hw(\boldsymbol{a})) = \sum_{\boldsymbol{a} \in Q} (1 - hw(\boldsymbol{a}))$$
$$= 2N - n + 1 - h(n+1).$$

(c) As in (8) we have the inequality

$$\frac{d(T_p)}{\#T_p} < \frac{n+1}{2N-n+1} < \frac{n+1-d(T_p)}{2N-n+1-\#T_p} = h^{-1},$$

so that h < (2N - n + 1)/(n + 1).

On the other hand, as $\#T_p - d(T_p) \le N - n$ by Lemma 2.2 and $1 \le d(T_p)$, we have the inequality

$$h = \frac{2N - n + 1 - \#T_p}{n + 1 - d(T_p)} \ge \frac{N + 1 - d(T_p)}{n + 1 - d(T_p)} \ge \frac{N}{n}.$$

(d) (see [3; pp.73-74]) **A**) When $d(S \cup T_p) = n + 1$. By Lemma 2.1 we have the inequality

$$n+1-d(T_p)=d(S\cup T_p)-d(T_p)\leq d(S).$$

By Lemma 2.2 and (a) of this theorem we have the inequality

$$\sum_{a \in S} w(a) \le \frac{\#S}{h} \le \frac{1}{h} (d(S) + N - n)$$

$$\le \frac{d(S)}{h} \left(1 + \frac{N - n}{d(S)} \right)$$

$$\le \frac{d(S)}{h} \left(1 + \frac{N - n}{n + 1 - d(T_p)} \right)$$

$$= \frac{d(S)}{h} \frac{N + 1 - d(T_p)}{n + 1 - d(T_p)}$$

$$= d(S) \frac{N + 1 - d(T_p)}{2N - n + 1 - \#T_p} \le d(S)$$

since $\#T_p \le d(T_p) + N - n$ (Lemma 2.2).

B) When $d(S \cup T_p) \le n$. Note that $\#(S \cup T_p) \le N$. We put

$$S_i = \begin{cases} S \cap T_i & (0 \le i \le p) \\ S & (i = p + 1). \end{cases}$$

Then, $\phi = S_0 \subset S_1 \subset \cdots \subset S_p \subset S_{p+1} = S$.

B.1) For $1 \le i \le p+1$, if $\#S_{i-1} < \#S_i$, then $d(T_{i-1}) < d(S_i \cup T_{i-1})$.

In fact, when i = 1, $0 = d(T_0) < d(S_1) = d(S_1 \cup T_0)$ as $T_0 = \phi$. When i > 1, suppose that

(14)
$$d(T_{i-1}) = d(S_i \cup T_{i-1}).$$

Then, we have that

$$d(S_i \cup T_{i-1}) - d(T_{i-2}) = d(T_{i-1}) - d(T_{i-2}) > 0$$

and that

$$\begin{split} \Lambda(T_{i-2};T_{i-1}) &= \frac{d(T_{i-1}) - d(T_{i-2})}{\#T_{i-1} - \#T_{i-2}} \\ &\leq \frac{d(S_i \cup T_{i-1}) - d(T_{i-2})}{\#(S_i \cup T_{i-1}) - \#T_{i-2}} = (*) \end{split}$$

by (iii) of Proposition 2.3(II) since

$$T_{i-2} \subsetneq T_{i-1} \subset S_i \cup T_{i-1}, \ d(T_{i-2}) < d(S_i \cup T_{i-1})$$

and so $S_i \cup T_{i-1} \in \mathcal{O}_{i-1}$. From (14) we have

(15)
$$(*) \le \frac{d(T_{i-1}) - d(T_{i-2})}{\#T_{i-1} - \#T_{i-2}} = \Lambda(T_{i-2}; T_{i-1})$$

since $\#T_{i-1} \leq \#(S_i \cup T_{i-1})$. From (15) we obtain that $\#(S_i \cup T_{i-1}) = \#T_{i-1}$. Namely, $S_i \subset T_{i-1}$ and so $S_i = S_i \cap S \subset S \cap T_{i-1} = S_{i-1}$, so that $S_{i-1} = S_i$, which is a contradiction. This implies that B.1) holds.

B.2) For
$$i = 1, 2, \dots, p + 1$$
,
 $(\#S_i - \#S_{i-1})\Lambda(T_{i-1}; T_i) \le d(S_i) - d(S_{i-1})$.

In fact, we have only to prove this inequality when

$$(16) #S_i - #S_{i-1} > 0.$$

Then, from B.1) $d(T_{i-1}) < d(S_i \cup T_{i-1})$. When (16) holds for $i \leq p$, by Proposition 2.3(II)(iii)

$$\Lambda(T_{i-1}; T_i) \le \Lambda(T_{i-1}; S_i \cup T_{i-1})$$

and when (16) holds for i = p + 1, by Proposition 2.3(II)(iv)

$$\begin{split} \varLambda(T_p; T_{p+1}) &= \frac{n+1-d(T_p)}{2N-n+1-\#T_p} \\ &\leq \frac{d(S \cup T_p) - d(T_p)}{\#(S \cup T_p) - \#T_p} = \varLambda(T_p; S \cup T_p). \end{split}$$

Further, for $i=1,2,\cdots,p+1$, we have the relations $\#(S_i\cup T_{i-1})=\#T_{i-1}+\#S_i-\#(S_i\cap T_{i-1})$ and by Lemma 2.1

$$d(S_i \cup T_{i-1}) \le d(T_{i-1}) + d(S_i) - d(S_i \cap T_{i-1}).$$

From these relations, we obtain that

$$\Lambda(T_{i-1}; T_i) \leq \Lambda(T_{i-1}; S_i \cup T_{i-1})
= \frac{d(S_i \cup T_{i-1}) - d(T_{i-1})}{\#(S_i \cup T_{i-1}) - \#T_{i-1}}
\leq \frac{d(S_i) - d(S_i \cap T_{i-1})}{\#S_i - \#(S_i \cap T_{i-1})}
= \frac{d(S_i) - d(S_{i-1})}{\#S_i - \#S_{i-1}}$$

since $S_i \cap T_{i-1} = (S \cap T_i) \cap T_{i-1} = S \cap T_{i-1} = S_{i-1}$. We have B.2). Now, we prove (d) when $d(S \cup T_p) \leq n$. From B.2) we have the inequality

$$\sum_{a \in S} w(a) \le \sum_{i=1}^{p+1} \sum_{a \in S_i - S_{i-1}} w(a)$$

$$= \sum_{i=1}^{p+1} \Lambda(T_{i-1}; T_i) (\#S_i - \#S_{i-1})$$

$$\le d(S) - d(S_p) + \sum_{i=1}^{p} (d(S_i) - d(S_{i-1}))$$

$$= d(S).$$

We complete the proof of Theorem 3.1. \square

References

- [1] H. Cartan, Sur les combinaisons linéaires de *p* fonctions holomorphes données, Mathematica **7** (1933), 5–31.
- [2] W. X. Chen, Defect relations for degenerate meromorphic maps, Trans. Amer. Math. Soc. 319 (1990), no. 2, 499–515.
- [3] H. Fujimoto, Value distribution theory of the Gauss map of minimal surfaces in \mathbb{R}^m , Vieweg, Braunschweig, 1993.
- [4] E. I. Nochka, On the theory of meromorphic curves, Dokl. Akad. Nauk SSSR 269 (1983), no. 3, 547–552 (in Russian).
- [5] E. I. Nochka, A lemma on weights, Mat. Zametki
 78 (2005), no. 1, 115–124, (in Russian); translation in Math. Notes 78 (2005), no. 1–2, 105–113.
- [6] M. Ru, Nevanlinna theory and its relation to Diophantine approximation, World Sci. Publishing, River Edge, NJ, 2001.
- [7] N. Toda, On the deficiency of holomorphic curves with maximal deficiency sum, Kodai Math. J. 24 (2001), no. 1, 134–146.
- [8] N. Toda, On the deficiency of holomorphic curves with maximal deficiency sum. II, in *Progress* in analysis Vol. I, II (Berlin, 2001), 287–300, World Sci. Publ., River Edge, NJ, 2003.